(1)

TRk 3 04EE IS EAE

[BRHARMMEOS CN®—7T 41— | A2 V7]
@ #7 0EAEbLS RIRIBTEITEESIM (SRS PRI 25H)
WA X
N e (1) WA e (M)
HELH 90,223 FHHE 14,167
Ay 12,961
T e (A4 Vv b A=) 10,020
AV AR (Pt < S V(i T ) 5,142
® (P R &hfic A ) 2,926
FPIFE AR S AR — F X 1 (FFTPRA) 2,100
N (RERHERIGEE DI 0 FEAH) 4,212
FIRUBSEE AR (RGBS B > &7 —fh) 2,525
EalE] (#1427 b A=) 1,170
IS ZER (OS CNAR—L_—V 470 ) 20, 000
IR BHEETR (R ARA— A=Y 250 H) 10, 000
TYA R (a0 2 ZERERSSR) 5, 000
aE 90,223 At 90,223
o DA A) 90,223H — () 90,223H = O0H
A X
FS & (1) HE &8 (1)
4 20,000 iR (A > FZ—Fv b - &Eah) 10,636
HIRT 2V 2 )=y 710,000 Y AR 6,751
REER 10,000 RIS AN (L& KA 6,250
FfRH &4 24,808 T AFR RO 4,860
T {E 3,326
R 2,764
FIF—hT 4N 2,000
T —)b 1,944
R (BPES A Te) 1,267
PRBRE 2,700
TR AL S ZAR— e & (FRiYEN ) 2,310
&t 44,808 Hit 44,808
ORA) 44,8081 — () 44,808M = O0OM
Z DA,
WA 3O
N & (M) A e ()
HEFEM 97,469 (@WADE  HikE &4~ 24,808
HHEE (2, ARY) 18,127
9 i E 50 sk 12,930
(—H) sSEReW i KBEEEEIREAES S 10,000
Zwh— Nt~ —E (28 5,000 -
INFRASE AR (BATN) 15,000 SEWEEAR 7,484
R ey 27000 | wem rmz e Emwae 5.184
ﬁmﬁ&ﬁﬁﬁ#mé%éé%% 20,000 | FTATNTYVALTI AR 5,000
REEHIBH BB ﬁﬁfﬁﬁﬁﬂﬁ&f?g MEZ (PTA UTA LA — LRl 25 57 144 2,351
B {E 1,985
2% (BBHEIEHHEERFTS - BBt 2 —) 1,500
B B ( EEAR) 8,100
At 97,469 Gt 97,469
A) 97,469 — (GZl) 97,4691 = OH




